(1/0)dxasy™/d(cos ¢)

MC /Data

Transverse EEC asymmetry for 8oo GeV < Hry < 850 GeV

;}\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\;
EI_| Data —4— 3
el _
oM e Hw 73.0LO @ PS —— =
5 =i Nk —1— Hw 7.3.0 LO& Dipoles —+—
oTE 11 Hw730NLO 5
= :|: : :|| | Ly Hw73¢Mergnpg-|—|—rj
N ||::: :':Hw73'oNLO@Dipolstl—|—:-§
WL HwradlOeds e
1o %rl B | | Hw7lzoLOEBDipolbs++:—§
o o L HwyzoNLO@IPs: b
1010 ]
El Lon | | I:—Iw 7.2.(}M¢rg11:1g T+T 3

cr! [ A I I 141 7

109 ?,’: : ::: : : :Hw 7.2.:0NLO¢|9D:ipolltes :-I-: i
- | 3
S W A A =
1.4 gfl: 4 | =+ T4 i | | =
1.3 B0 T { | ! —=
1.2 £~ [ LT ' ! ' =
EniinaSBi=<sull i un
0.9 27 n | T l_ | é
08 5 | 1! MM [ | | — —=
0.7 Snm —— [ L_1_1 =
SEERRERN ] - =
8:ggwll [ \\|‘|\\\&:I\\—’_l\\\\\‘\\‘\\é
-1 -09 -08 -07 06 -05 -04 -03 -02 -01 O

0
@)
@

<



